
Model Answer 

 

Chain Generation 
1 2 3 

Control 1 5 3 1 
Control 2 1 0 0 
Control 3 5 3 2 
Social 1 5 5 3 
Social 2 5 5 5 
Social 3 4 4 2 

 

Material Generation Average 
1 2 3 

Control  3.67 2 1 
Social  4.67 4.67 3.33 

 

 

 

 

 

 

 



Control Chain 1 

 

Generation 1. 

Cheddar gorge is thought to be a rock formation formed by water floods at the end 

of the last ice age1. Often the limestone would be blocked by ice, stopping water 

flowing through it2 and forcing it to flow over the top, carving the gorge3. When the 

ice melted, water could flow through the bottom and the caves were formed4. Now, 

there is no river flowing through much of the gorge, apart from when a river emerges 

from underground.5 

5/5 

Generation 2. 

Cheddar gorge is thought to be a rock formation that formed by water floods at the 

end of the last ice age1. The limestone got blocked by ice2 and the water was forced 

to flow over the top carving the gorge3. When the ice melted the water could flow 

through creating caves. Now there is not much water. 

3/5 

Generation 3. 

Cheddar gorge is a rock formation formed during the last ice age. The ice blocked the 

limestone2 and the water went round and carved. The ice melted and the water had 

to go round the gorge and make caves. No there is no water. 

1/5 

 

 

 

 

 

 

 



Control Chain 2 

 

Generation 1.  

Cheddar Gorge is rock formation made from the melt rivers at the end of the last ice 

age1. The limestone was eroded when the rivers could not go past the ice and 

consequently gorges were carved out. In warmer periods, the ice melted and the 

water from the melt rivers could flow through, instead under water caves and 

tunnels were made. 

1/5 

Generation 2. 

Chedder Gorge is rock formed by melting at the end of the last ice age. Due to the 

ice, sediment was unable to pass and limestone was formed. When the ice melted, 

the rock could pass through but instead went through underground caves. 

0/5 

Generation 3. 

Cheddar gorge is rock formed by melting at the end of the last ice age. Due to ice 

melting, sediment and limestone formed. The melting allowed rocks to pass through 

the surface. 

0/5 

 

 

 

 

 

 

 

 

 



Control Chain 3 

 

Generation 1. 

Chedder Gorge is a rock formation that was formed from melting water at the 

end of the last ice age1.During the ice age the limestone was filled with ice2 and 

as a result the water had to flow over the top of the limestone carving out the 

gorge3. As the ice in the limestone began to melt water began to flow through 

the limestone forming underground rivers and creating the underground cave 

network4. Nowadays the gorge is dry until a river appears from out of the cave 

further down the gorge.5   

5/5 

Generation 2. 

Chedder Gorge is a rock formation that was formed by melting water at the 

end of the last ice age1. During the ice age gaps in the limestone were filled 

with ice2 so water had to flow over the top, carving out the gorge3. As the ice 

melted the water flowed down to form the underground rivers and 

underground cave network. Now there is no water in the gorge except at the 

end where it flows out from the cave. 

3/5 

Generation 3. 

Cheddar gorge was formed during the last ice age. It was formed due to gaps in 

the limestone being filled by ice2, therefore the water had to flow on top, 

carving out the gorge.3 Once the ice melted, the water was able to flow down 

forming an underground network of rivers and caves. Now, there is no water 

flowing in cheddar gorge. 

2/5 

 

 

 



Social Chain 1 

 

Generation 1.  

A boss of a small company took his attractive secretary out for a long lunch on his 

birthday1 where they had some drinks. After the lunch the secretary asked her boss if 

he wanted to come up to her apartment for some more drinks2 which he readily 

agreed to. When the secretary left the room to ‘slip into something more 

comfortable’3, she returned with his birthday cake as well as his family, friends and 

wife4 to find that the boss was waiting wearing nothing more than his socks5.  

5/5 

Generation 2. 

One day a boss took his attractive secretary out for a long lunch as it was his birthday 

and they had some drinks1.  After the meal the secretary asked her boss if he wanted 

to come up to her apartment for some more drinks2, which he readily agreed to.  

When the secretary left to ‘slip into something more comfortable’3 she returned with 

his birthday cake, friends, family and wife4 to find the boss waiting wearing nothing 

but his socks.5 

5/5 

Generation 3.  

One day a boss took his good-looking secretary out for lunch. During the meal they 

had quite a few drinks. After, the secretary asked if he wanted to come back to her 

apartment. When they arrived, the secretary left to ‘put something more 

comfortable on’3. When she came back, she arrived with a birthday cake, friends, 

family, and his wife4, whilst the man was stood there with nothing but his socks on5.  

3/5 

 

 

 

 

 



Social Chain 2 

 

Generation 1.  

A boss from a small company invited his attractive secretary out for lunch for his 

birthday1. Afterwards she invited him back to her apartment for a drink2 which he 

agreed to. She then said she was going to “slip into something more comfortable”,3 

and when she returned, with a birthday cake, surrounded by the man’s friends, wife 

and children4, they found him wearing nothing but his socks5. 

5/5 

Generation 2. 

A boss from a small company invited his attractive secretary out to lunch with him on 

the day of his birthday1. After lunch, she invited him back to her apartment for a 

drink2, which he agreed to. When they got there, she told him she was going to “slip 

into something more comfortable”, and left the room3. When she returned with a 

birthday cake for him, along with his wife, friends and children4, they found him in 

nothing but his socks.5 

5/5 

Generation 3. 

A boss was invited his attractive secretary out for lunch with him as it was his 

birthday1. After the lunch she invited him back to her apartment for a drink2, which 

he agreed to. When they got to the apartment she said she just wanted to “slip into 

something more comfortable”3. She came back with a birthday cake, his wife, friends 

and children4 to find him in nothing but his socks5. 

5/5 

 

 

 

 

 



Social Chain 3 

 

Generation 1.  

A man and went out  and had drinks with his very attractive secretary, she then 

invited him  up to her apartment2, to which he readily agreed and then she said she 

was going to go and ‘slip into something a little more comfortable’3, then she 

returned with a birthday cake and a surprise birthday party for the man, the guests 

included he friends, family and wife4. They found the man looking very surprised in 

nothing but his socks.5  

4/5 

Generation 2. 

A man went out for drinks with his very attractive secretary. She then invited him 

back to her place2. When they got back she said she was going to ‘slip into something 

more comfortable’3. She returned with a birthday cake and a surprise party for the 

man. Amongst the guests were his friends, family and wife4. They were surprised to 

see him there in nothing but his socks5. 

4/5 

Generation 3. 

A man went out for drinks with his secretary. When they returned to his house she 

asked him to ‘slip into something more comfortable’ while she left the room for a 

short while. She returned with a birthday cake. His friends and family4 were surprised 

to find him wearing nothing but his socks5. 

2/5 


